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NANYANG PRIMARY SCHOOL

PRELIMINARY EXAMINATION
2022

PRIMARY 6
PAPER1
(BOOKLET A)
Total Duration for Booklets A and B: 1 hour
Additional materials: Optical Answer Sheet (OAS)

4. Do not tum over this page uniit you are told to do so.
‘2. Follow all instructions carefully.

3. Answer all questions.

‘4, Shade your answers in the Opfical Answer Sheet (OAS) provided.

5. The use of caloculators is NOT allowed.

Name: ‘ :_' ( )

Class: Primary 6 ( )
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Questions 1 to 10 cany 1 markeach. Questions 11 to 15 canty 2 marks sach.
Faor each question, four options are given.  One of them is the correct answer.
mmmwa(s 2, 3 or 4) and shade your answer on the Optical Answet

(20 marks)

1 Round 748 850 to the nearest hundred.

() 748800
(2) 748900
(3) 748950

) 749000

2 10 hundredihs and 75 thousariths is

) 0085
@ 0475
@ 0760
(4 0860
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In the number line below, what is the value of Y as indicated by the

arow?

s P ] L 2 &

LI}
8.025 8.116

(1) 8130
(2) 8.145
(3) 8.60

(4) 8475

Which palr of ines In the square grid are paraflel?

s

(1) AHand BE
@) Gland AC
(3) ABandHF

(4) BDandEF

2
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8

BCE and DAB are straight lines, Find ZDAC.

()
(2)
3
)

PQRS Is a trapezium and RSTU Is a paraliglogram.

AN

Which of the following pair of angles gives a sum of 180°7

M
@)
&
4

148°
940
-1 g

62°

LQPT and ZPTU
ZTSR and ZUTS
ZTUR and ZTSR

ZPQU and ZURS
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Which two of the following are neta of a cube?

A B c )
(1) AandB
2) AandC
@ BamC
4) CeandD

Hulling had $2z. Ravi had twice as miuch money 88 Huiling. Jas hed
$5 move than Ravl, i Jas had $10, how much money did Hulling have?

() $30
(2) $750
3 $3

(4) $250

4

More papers at www.testpapersfree.com

BP-~270



BP-271

The ple chatt shows the mdmmwmw nthe
school canteen.

(1

(2)

Number
of drinks

)

Number
of drinks

(4)

of drinks:

sold l
B
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M

Which of the following Is likely to be the length of a bench in the school

cantsen?

M
&)
®
@

: &
Which of the following fractions is closestfo = 7

(1
(2)
&)

@

18 cm
18cm
18m
18m

5

b i O thl
o @ @ o

8

More papers at www.testpapersfree.com

BP-272



12 The square grid shows the positions of the bulldings U, V, W, X, Y and

Z.

Ity

vg | | {w

¢’ -74*

Chiisting’s House

Christine stands at a location south-west of ber house and east of a
bullding. When facing south-east from Chiistine’s locadion, she sees a
buliding, What is that buliding?

(1
2
(3
(4)

Bullding W
Building X
Buiiding Y
Buliding Z.
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13 What is the length of the pencil shown below?

.

73
&)
4

8.2¢m

64 cm
56¢cm

10.7.om
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14  Viv, Wendy and Xinyl sach had some beads. They each used the same

18

niamber of beads fo maks a nookace. Viv used 3 of her beads,
wmyum% afnermdsammmuaed§ of her beads, What
was the ratio of the number of beads Viv had at first to the nimber of

beatls Weridy hasd at first to the number of beads Xinyl had at first?

M 1+ : 7 : 3

{2) 3 8 : 4
@ 8 : 2t : 18
(4 6 : 24 : 28

The first 7 numbers of a number pattem are given below.
4, 186 , 8 , 32 , 18 , 64 , 32 ,..
i Lo ¥ il

What is the 13% number?

(1) 128

@) 256

{3y 612

4 1024
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NANYANG PRIMARY SCHOOL

PRELIMINARY EXAMINATION
2022
PRIMARY 6
MATHEMATICS
PAPER 1
(BOOKLET B)

BP-~277

Total Duration for Booldets A and B: 1 hour

1. Do riot tum over this page until you are told to do so.
2. Foliow all instructions carefully.

3. Answer all questions.

4. Write your answers in this booklet.

5. The use of calculators is NOT allowsd.

Class: Primary 6 ( )

‘BookletB | i% |

| Pleaseslgnammmmammmnpaperthemmtday Anyquerlesshouid |

be raised at the same time when retuming paper.
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Questions 16 to 20 carry 1 mark each. White your answers in tho spaces
provided. For questions which requira units, give your answers in the units
stated. (5 marics)

16  Mr Ahmad hed 2 bags of marbles. One of the bug contalned 6.red
marbles and 3 blue marbles.  The other bag contalned 2 red marbles
and 4 yeliow marbles.  What fraction of the totel merbles from both bags
wera red farblos?

17  Find the value of 3.707 L+ 1.373 ¢
Express the answer in litres and millilitres,

1
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18  Thero are 5 shaded squares in the figure. Shade 5 more squares to
form a symmetric figure with XY as the line of symmetry.

49  The sofid below Is made up of 1-cm cubes. What Is the volume of the

2
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20 Paminder stacked 14 unit cubes and glued them together fo form the
solid below. '

Front view

Draw the side view of the solld on the grid below,

Sida View

3

More papers at www.testpapersfree.com




Questions 21 to 30 cary 2 marks each.  Show your working clearly and write

your answers In the spaces provided.  For questions which require units, give
your answers in the units stated, {20 marks}

21 A faulty traffic ight had its red light blinking every 2 seconds, its amber
light blinking every 3 seconds and Its green light blinking every 8
seconds, i all three lights biink now, how many seconds later will they
afl blink together again?

4
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22  MrlLlew paid $78.50 for a pair of shoes and $19.90 for a towsl,
{a)} How much did he spend aliogether? Round the answer {0 the
nearast dollar.

*

Ans: (a) §
(b} Find the cost of 30 such towels,

Ans: () §

23  Adaycamp lasted 8 h 20 min. m&ymmmﬁmﬁ\bﬁom
the snack break. Snack break was at 11.30 am. What time did the
day camp end? Glve your answer in 24-hour clock.
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In 2021, Maggle saved 20% of her monthly salary of $3000 each month.
In 2022, Maggle received an increase In her monthly salary and she
saved $180 more per month, What was the percentage increase in
Maggle's monthly savings?

Ans: %

Thers were 1338 big buns and 7982 small buns in a factory. The buns
were packed into bags. Each bag cortained 1 big bun and 6 smalt
buns. What was the greatest number of bags that could be packed?

8
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. 2
2% mmm%wmmmm@ Sheaold;ofﬂw

remalning apples on Tuesday. Mrs Chen. had 14 apples left after

selling apples on Monday and Tussday. How many apples did Mrs
Chen have at first?

Ans:

2r: -Mafyhadamﬂﬁmvﬁmawmm‘{m. Shemtoff%mof
" the ribbon. The remaining length of the ribbon was cut iato shorter

pmofm%mm ﬁmmmmmfgmm
ribbon did Mary have in the end?
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28  Inthe figure below, KLMN Is a trapezium and LM Is paralie} to KN.
ZLMN=48"and ZMNKis g— timesof ZMLK. Find ZMLK.

L

\

Ans: ?

280  ABEF and BCDE are paraflelograms. £FAB = 114° and ZEBC = 78°,
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30  Pam Bakery uses /m kg of sugar sach month. Pam Bakery uses 30 kg
more sugar than Sweat Bakery each month, I m = 100, how many
kilograms of sugar do Pam Bakery and Sweet Bakery use In fotal for one

yoar?

End of Papor
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PRELIMINARY EXAMINATION
T 2022

PRIMARY 6

MATHEMATICS
PAPER 2

1. Do not tum over this page untif you are told to do so.
2. Follow all instructions carefully.

3. Answer all questions. .

4, Write your answers in this bookdet.

5. The use of an approved calcutator is allowed.

Name: - | - ( Y

Class: Primary 6 ( )

Parent’s Signafure: Booklet A 120
Bookiet B 125
Paper 2 188 |
Total 1100

Pleage sign and return the examination paper the next day. Any queries should

be raised at the same time when returning paper.
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1 The oniginal price of a book was $k. David bought 15 such books.
After ho was given a discount of $10, ha paid a total of $110.  Whatwas
the original price of one such book?

Ans: $

2 The table below shows the charges for renting a bicycle.

7am. toS.p.m. per hour
Mon to Frl Spm.lo9pm. | $8perhour
SatandSun | 7am.toBpm. | $12per hour

On Friday, Mr Wu rented a bicycls and retumed itat 6 pm. He paid a
total of $24. For how many hours did he rent the bloycle?
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Ji Min saved some money In April. She saved $2.50 per day for 20
days. She then saved $3.10 per day for the rest of the month.  What
was the average amount of money she saved per day in Aprii? (Thers
are 30 days in April.)

Ans: $

Dana bought an oven from Shop A at 15% discount during a sale, The
- price of the oven was $600 before discount at Shop A.  Haliey bought
an kderdical oven from Shop B at 20% discount and pakd the same
amount as Dana, What was the price of the oven before discount at
B8hop B?

Ans: §
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5

The figure is formed by 5 straight Unes DF, EM, EG, FH and DG,
Find ZEHF.
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{1l

(b} AB also forms one side of a trapezium ABEF.  AB Is paraliel fo EF.

{45 marks)
2

fine and AD = AR, Complete the drawing of trapezium ABEF such

The length of EF Is twice the jongth of AB. DAF forms a straight
that & does not overiap with the rthombus.

drawing of the thombus ABCD,

in the square grii below, AB and BC are straight lines.
(a) AB and BC form two sides of a thombus ABCD. Compleie the

spaces provided, The number of marks avallable Is shown In brackets [ lat

the end of each question or part-question.

For questions 8 to 17, show your working clearly and write your answers in the

8
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7 Peter had $18.20 less than Jane at first.  After Jane gave some of her
money to Petor, he had $20.20 more than her.  How much money did
Janhe give to Peter?
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Kira had a roll of blue paper and a roll of red paper. The length of the

roﬂofbluepnperls%mmthofmemnafrsdpapm She cut the
roll of blue paper into equal parts of length 8 cm and on each part she
drew 3 star shapea.  After that, she cut the roll of red paper info agual
parte of langth 7 cm and on each pait she drow 5 heart shapes. What
fracion of the shapes Kira drew were star shapes?
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Fourtowns A, B, C and D collected plastic botlles fo be recycied. Town
Amamwudmwwmmm TownB,Cand D
colectad an average of 344 plastic botfles.  The folal number of plastc
mmwm4mmammmmms
collected. mmmmcﬁdmsmﬁm
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10 MrToh left Town B and drove to Town C at 11 a.m. at a constant speed
of 60 knwh. Mr Lee left Town A at 12 noon and drove to Town C ata
constant spead of 80 km/Mh. Town A and Town B were 15 km apart.
Afer travelling from Town A to Town B, Mr Lee then travelied to Town C
along the same route as Mr Toh, At what time did Mr Lee catch up with
Mr Toh?

Ans: i3]
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11 Tank Y and Tank Z are two reciangular tanks.  Affirst, Tank Y contained
some water to a height of 42 cr and Tank Z was emply.

Boom.
Yank Z
{8) What was the volume of the water In Tank Y at firet?
Ang: {a) {11

{(b) Kanthea poured some water from Tank Y into Tank Z.  After that,

?wﬂ:‘(had%aammas?mkz Find the helght of the
water level In Tank Z. '

Ane: (b) _ @
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A rectangular block A was cut along the dotted line into two smailer
rectangular blocks of equal height, B and C, as shown below. The
volume of block B was 4752 cm® less than that of block C.

. 9cm .
32 com B em

27 cm

(a) What was the height of each block?

Ans: (a) _____ v

(b} Matthias packed 12 of block C such that thay fit axactly into a box
with a square base. The box had the same helght as block C, At
most, how many of block B can be packed into such a box?

Ans: (b) 2]

10
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43  J1Eun filod a tank with water using two taps, Tap A and Tap B. She
fumed on Tap A fust.  After 10 wminutes, she fumed on Tap B.. Both
taps were turned off at the same time when the tank was completely
filsd, The graph below shows the amount of water in tha tank over
45 minufes,

22
20
18

16

O 5 10 15 20 26 30 35 40 45
Time (Minutes)

R

fi-(a} What was the capacity of the tank?

Ans: (a) . . M

(b) How many ifres of water flowed from Tap B per minute?

Ans: (b) (31

11
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14  Marlam had some gold, some silver and some copper fokens for a
camival. The ratio of the number of gokd tokens fo the total number of
silver and copper tokens was 10: 9.  The ratio of the number of sllver
fokens to the number of copper fokens was 3 : 1.  She exchanged 12
gold tokens for a stuffed toy and some siiver tokens for a jar of marbles.
{n the end, the ratio of the number of gold toksns fo the number of copper
tokens became 4 : 1 and the ratio of the number of silver tokens fo the
rwamber of copper fokens became 4 : 3,

{a) What was the miio of the number of goid fokens to the number of
gilver tokens to the nunber of copper tokens Marlam had at first?

Ans: (a) i

(b) mmmmmmmdmmwa
marbles?

Ans: () —

12
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18  ABC Is a friangular plecs of paper with AB = AC, £BAC=95°. AEB
and BDC are stralght inss.  The paper is then folded along the line DE
as shown below.

Ans: (a) R,

(b) Find Ly.

Ang. (b} 4]

13
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16

A shop sells four types of muffin.  The bar graph shows the number of
aach type of muffin sold by the shop, 'The bar for the number of banana
muffins sokd has not been drawn. The number of banana muffins sold

was 3 the number of vanilla muffins sold.

5
90 -
80
70
80
Number 80 E—
of : ——
muffins 40 —
sold oo~
- 30 —
20 —
10 E s
0 L3

‘(&) How many banana muffing were sold?

Ans: (a) . {11

14
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{b) The table below shows the prices of the muflins.

Vanilia ~_$0.70
|_Strawbeny e 3135
Banana | $1.20

memmdmwdmwmmmmm
money?- What was the amount of money?

Ans: (b) Muffin:

Amount: {2

{c) Each of the statements below is either true, false or not possible to
tell from the information given. For each statement, put a tick (v)
to indicate your answer.

Statement Truo | False | possible
1 totell
‘The. number of chocolate muffine sokd |
Wﬂsﬁﬁ
The ratio of the number of strawberry
muffins sold to the number of strawbeny
muffins e unsoldwas 3: 2,
The shop soki 46 boxes of 5 muffins. |
3
@

15
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47  The figure below is made up of a semicircle, 2 identical quarter clrcles
and 2 identical right-angled Isosceles triangles, ACB end ACD.
CA=CB=CD, Olsthecentraofthecircle. AOC and BCD are straight
lines. Find the total area of the shaded parts.

(Take x = 3.14)

A

Ans: : (5]

End of Paper
18
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